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3) The annual yield per fruit tree is fairly constant at 150 potinds per trde when the number of trees per
acre is 35 or fewer. For each additional tree over 35, the angual yield peg tree for all trees on the acre

decreases by 2 pounds due to overcrowding. _
a) What would be the yield for one tree if 35 trges were planted?:if 36 trees were planted? if 37 trees were

planted?
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b) What would be the total yield per acre if 35 trees were planted? if 36 trees were plantea?if 37 trees m ~$
were planted? Organize your results in a table. A
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d) If x represents the number of trees per acre, express the total yield per acre as a function of x. Use that
function to determine the number of trees that should be planted per acre to maximize total yield.
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